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6. 4/ Which of the following expressions is equivalent to —(3x—2)? )
. \(/ whe value of x in the equation 2(x +5) - 12 =50 i

—3x+2
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3x+2 ‘EM B. 2
3g=2 B L. 23
D. 36
hich number line shown below represents the solution to 42x—1)>4x + 82
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15. The value of x in the equation 3(2x—1) = ;(\ +0) is
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Jim simplifies the expression 2 (x + 2) 2_ (8=%) as shown below./

[—
 —

S5x+10—-8 —x

L

Step 1

) 27. In which step did Jim make an error when simplifying the expression?
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Step 3 7 + 5 B. Step 2
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Step4d 2x+1 D. Step4



